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Exercice 1 : (08 pts) 
      Pour cette variante, on trouve : 
X = 6 N                  1 pt  
Y = 4 N                  1 pt 
R = 7,21 N             1 pt 
β = 33,69 °             1 pt 
ΣMFi = 14 N.m,    1 pt   
d = 1,94  m            1 pt 
Représentation       2pts 

 

Exercice 2 : (12 pts) 
 Pour la variante : F1 = 21 kN , F2 = 22 kN et q = 27 kN/m. 

RAx=   0.      
RAy =  41,50 Kn 2 pt 
RBy=   43,50 kN 2 pt 

 
 Diagrammes de Ty et de Mz 

 

 

X 

Y 

F1 

F2 

F3 

F4 

F5 

D 

C B 

A 

1 m 

E 

J 

I 

1 m 
H 

G F 

K 

L 

     


